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 1.2 An object sits on a frictionless surface. There is a 16 N force being applied to an object and its 
acceleration is at 2 m/s/s. What is its mass? 

      F = ma 
16 N = m( 2 m/s2)  
     m = 8 kg  

Forces 

Fundamental forces :
 

‐ gravitational  
‐ electromagnetic 
‐ nuclear 

 

Non‐fundamental forces and their origin:  ‐ elastic (electromagnetic force) 
‐ friction (electromagnetic force) 
‐ tension (electromagnetic force) 
‐ normal force (gravity) 
‐ centrifugal (ficticious force, concequence of Newton's first 
                        law,happens with circular motion) 

 

Formulas 

 

a) Gravity   ࡲ ൌ ࡹ∙࢓ࡳ

࢘૛
 

G = grav. Constant = 6.67300 × 10‐11 
௠య

௞௚∗௦మ
 

m – mass of first object 
M – mass of second object 
r – distance between the centers of objects 
 

 

b) Elastic   ࡲ ൌ െ࢑ ∗ ࢞ 
 

 
k – spring constant  (depends on given spring) 
x – displacement from equilibrium position 
 

 

c) Friction   ࡲ ൌ ࣆ ∗  ࡺ

 

 
μ – coefficient of friction (depends on surface) 
N – normal force (force of reaction of the surface as describen in   
       Newton's third law. On a flat surface is equal to the weight of  
       the object) 
 

 

d) Centrifugal       ࡲ ൌ	࢓∗࢜
૛

࢘
 

 
m‐ mass of the object 
v – velocity of the object 
r – distance of the object from the point around which it is  
      spinning 

 


